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TF Torques

Shot: 2762, Param. Tree 72

IDL: Max= 6.71940, Min=-2.38783e-06

TF SS and OoPM, Top_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 6.7194021, Min= -2.3878286e-06
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0 TF Torques
Shot: 2762, Param. Tree 72

-10 E_IDL Max= 6.72249, Min= -3.04788e-06

g TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., circ.)

- DCPS: Max= 6.7224916, Min= -3.0478824e-06
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TF Torques

Shot: 2762, Param. Tree 72

IDL: Max= 6.72290, Min=-3.14119e-06

TF SS and OoPM, Top_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 6.7228960, Min=-3.1411901e-06
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TF Torques

Shot: 2762, Param. Tree 72

IDL: Max= 6.24775e-05, Min=-0.0149996

TF SS and OoPM, Mid_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 6.2477705e-05, Min=-0.014999549
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E_IDL: Max= 3.40365e-05, Min=-0.0143770

g TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., circ.)
= DCPS: Max= 3.4036449e-05, Min=-0.014376969
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TF Torques

Shot: 2762, Param. Tree 72

IDL: Max= 3.85090e-05, Min=-0.0145441

TF SS and OoPM, Mid_Torsional_Sheer_Stress (post. dis., shaped.)
DCPS: Max= 3.8508845e-05, Min=-0.014544109
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TF Torques

Shot: 2762, Param. Tree 72

IDL: Max= 5.75184e-05, Min=-0.104042

TF SS and OoPM, Bot_Torsional_Sheer_Stress (normal, circular)
DCPS: Max= 5.7518432e-05, Min=-0.10404251
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E TF Torques 3
E Shot: 2762, Param. Tree 72 g
- IDL: Max= 6.00588e-05, Min= -0.104237 3
= TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., circ.) 3
= DCPS: Max= 6.0058805e-05, Min= -0.10423692 =
E153 o __________._ E
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time
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E TF Torques 3
= Shot: 2762, Param. Tree 72 3
E_IDL: Max= 6.36994e-05, Min= -0.104515 3
= TF SS and OoPM, Bot_Torsional_Sheer_Stress (post. dis., shaped.) 3
= DCPS: Max= 6.3699307e-05, Min=-0.10451551 =
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Fa Starts 076531521

Fault Ends: 0.86608031\ 7/~~~ -

TF Torques

Shot: 2762, Param. Tree 72

IDL: Max=0.111606, Min= -364812.

TF SS and OoPM, al_OL_OoPM (normial,/circular)
DCPS: Max=10.11160622, Min=-364811.96
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Fa Starts 076531521

Fault Ends: 0.86608031\ 7/~~~ -

TF Torques

Shot: 2762, Param. Tree 72

IDL: Max=0.111606, Min= -364812.

TF SS and OoPM, al_OL_OoPM (post.\dis., circ.)
DCPS: Max=0.11160624, Min= -364811.96
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Fa Starts 076531521

Fault Ends: 0.86608031\ — /-~~~ -

TF Torques

Shot: 2762, Param. Tree 72

IDL: Max=0.111606, Min=-364812.

TF SS and OoPM, al_OL_OoPM (post.\dis., shaped.)
DCPS: Max=0.11160622, Min= -364811.96
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4210° - 3
310°F- =
2:10° - 3
E TF Torques 3
1.10° E_Shot: 2762, Param. Tree 72 3
E IDL: Max= 86679.2, Min= -5.95667 3
OE TF SS and OoPM, Half_OoPM (normal, circular) §
E DCPS: Max= 86679.205, Min= -5.9566764 3
= 145 E
0 = == = = T = = e = = - = = 5 — 5 = C . L -
-4 -2 0 2 4 6

time
- T T T T T T 3
4106 =
3410°E- E
2:10° - E
E TF Torques 3
1010° E Shot: 2762, Param. Tree 72 3
E IDL: Max= 86175.1, Min= -3.50331 3
0 E TF SS and OoPM, Half_OoPM (post. dis., circ.) 3
= DCPS: Max= 86175.138, Min=-3.5033130 3
= 15.5 3
0 = == = = T = = e = = - = = 5 — 5 = C . L -
-4 -2 0 2 4 6

time
- T T T T T T 3
A10°E =
310°F- =
2:10° - 3
E TF Torques 3
1.10° E_Shot: 2762, Param. Tree 72 3
E IDL: Max= 86105.6, Min= -3.16485 3
OE TF SS and OoPM, Half_OoPM (post. dis., shaped.) 3
= DCPS: Max= 86105.597, Min= -3.1648473 3
E 165 E
0 = == = = T = = e = = - = = 5 — 5 = C . L -
-4 -2 0 2 4 6
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TTT

= TF Torques =
= Shot: 2762, Param. Tree 72 3
E IDL: Max= 5.25885, Min= -48577.8 3
E TF SS and OoPM, Lower Outer_ OpPM (normal, circular) i
= DCPS: Max= 5.2588475, Min= -48577.757 =
= 14.6 ]
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- T T T T T =
E TF Torques E
= Shot: 2762, Param. Tree 72 3
E IDL: Max= 7.12023, Min= -48831.4 3
= TF SS and OoPM, Lower Outer OpPM (post. dis., circ.) E
= DCPS: Max= 7.1202305, Min= -48831.372 =
E 156 ]
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E TF Torques ;
= Shot: 2762, Param. Tree 72 3
E IDL: Max= 6.55034, Min= -48793.3 3
= TF SS and OoPM, Lower Outer OpPM (post. dis., shaped.) 3
E DCPS: Max= 6.5503397, Min= -48793.259 3
= 16.6 ]
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-110°

Shot: 2762, Param. Tree 72
IDL: Max= 0.487964, Min= -237524.
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24108 = TF Torques

-3¢10° .
TF SS and OoPM, Upper_Outer_OpPM (normal, circular)
DCPS: Max= 0.48796424, Min= -237523.60
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-110°

Shot: 2762, Param. Tree 72
IDL: Max= 0.913646, Min=-238012.
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24108 E_TF Torques

-3+10° o
TF SS and OoPM, Upper_Outer_OpPM (post. dis., circ.)
DCPS: Max= 0.91364644, Min=-238011.74
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_2410¢ E_TF Torques E
= Shot: 2762, Param. Tree 72 3
s 1065 IDL: Max= 0.841385, Min= -237929. =
i = TF SS and OoPM, Upper_Outer_OpPM (post. dis., shaped.) 3
= DCPS: Max= 0.84138545, Min=-237928.88 3
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